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Y& AE
S HERRE R EE R
(kg/hr) (kg/hr) (kg/hr) (B/)
(a) [FFEEH — /NP E(HEFEENEANZSKER)
fotr 2.277 0.008 - 0.613 0.025 &
LA i 1.512 0.000 - 0.799 0.101 =
/b= (HCD) 4.545 0.022 - 0.162 0.099 =
b= (HF) 0.306 0.001 - 0.098 0.014 =
“&/ER (SO2) 15.147 0.094 - 7.387 2.618 =
—& /L% (CO) 7.578 0.001 - 0.885 0.066 =
HEEY (NOx)
PLI=&/EE (NO2) 30.303 0.960 - 5.335 1.732 =
s E
(b) [FFEEEH — HI9E (HNEHRENRRER)
fotr 0.756 0.012 - 0.051 0.025 e
LA 0.756 0.001 - 0.254 0.105 =
ZF/bE (HCD) 0.756 0.061 - 0.122 0.099 s
#wILE (HF) 0.072 0.008 - 0.023 0.014 =
—21ERRE (SO2) 3.789 2.200 - 2.955 2.620 =
—& (b (CO) 3.789 0.026 - 0.118 0.065 =
HEY (NOx)
L= EAEE (NOy) 15.147 1.214-2.382 1.739 yiss
ETHE
28 HERPRE Y ERzahiR R
(kg/hr) (kg/hr) (B/)
(c) | FREH (HRr{EERFTEE)
7K 0.003789 <0.0003 =
9 S SE VAR S 0.003789 <0.0010 =
EEya s 0.0378 <0.0046 e
IR Ry IR 0) 7.575x 10° <5.142 x 10°1° =
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(kg/hr) (kg/hr) (kg/hr) (B/)
(a) [FFEEH — /NP E(HEFEENEANZSKER)
fotr 2.277 0.002 - 0.221 0.012 &
LA i 1.512 0.000 - 0.453 0.057 =
/b= (HC) 4.545 0.014-0.123 0.074 =
b= (HF) 0.306 0.000 - 0.028 0.009 =
“ &AL (SO2) 15.147 0.623 - 5.434 2.596 =
—4&dkEi% (CO) 7.578 0.000 - 0.192 0.067 =
HEEY (NOx)
PLI=&/EE (NO2) 30.303 0.417 - 6.824 1.386 =
s E
(b) [FFEEEH — HI9E (HNEHRENRRER)
fotr 0.756 0.007 - 0.025 0.012 e
LA 0.756 0.025 - 0.109 0.057 =
F/bE (HC)) 0.756 0.055 - 0.096 0.074 s
mIbE (HF) 0.072 0.003 - 0.015 0.009 =
—21ERRE (SO2) 3.789 2.142 -2.884 2.597 =
—& (b (CO) 3.789 0.017-0.111 0.067 =
HEY (NOx)
P=81EE (NO) 15.147 0.759 - 2.617 1.393 =
ETHE
28 HERPRE Y ERzahiR R
(kg/hr) (kg/hr) (B/)
(c) | FREH (HRr{EERFTEE)
7K 0.003789 <0.0002 =
9 S SE VAR S 0.003789 <0.0010 =
EEya s 0.0378 <0.0045 e
IR Ry IR 0) 7.575x 10° <4.992 x 10°1° =
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(kg/hr) (kg/hr) (kg/hr) (B/)
(a) [FFEEH — /NP E(HEFEENEANZSKER)
fotr 2.277 0.003 - 0.043 0.004 &
LA i 1.512 0.000 - 1.101 0.104 =
/b= (HCD) 4.545 0.010 - 0.196 0.098 =
b= (HF) 0.306 0.000 - 0.050 0.018 =
“ &AL (SO2) 15.147 0.011-6.910 2.788 =
—4&dkEi% (CO) 7.578 0.000 - 0.280 0.079 =
HEEY (NOx)
PLI=&/EE (NO2) 30.303 0.917 - 8.135 2.277 =
s E
(b) [FFEEEH — HI9E (HNEHRENRRER)
fotr 0.756 0.003 - 0.006 0.004 s
LA 0.756 0.044 - 0.228 0.103 =
F/bE (HC)) 0.756 0.070 - 0.136 0.099 =
#wILE (HF) 0.072 0.005 - 0.030 0.018 =
—21ERRE (SO2) 3.789 2.464 - 3.059 2.800 =
—& bk (CO) 3.789 0.029 - 0.175 0.078 s
HEY (NOx)
PL=&/EE (NO2) 15.147 1.207 - 3.586 2.322 =
ETHE
28 HERPRE Y ERzahiR R
(kg/hr) (kg/hr) (B/)
(c) | FREH (HRr{EERFTEE)
7K 0.003789 <0.0003 =
9 S SE VAR S 0.003789 <0.0012 =
EEya s 0.0378 <0.0053 e
IR Ry IR 0) 7.575x 10° <5.853 x 1010 =
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